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INSTRUCTIONS TO CANDIDATES

* The Insert will be found in the centre of this document.

*  Write your name, centre number and candidate number in the boxes above. Please write
clearly and in capital letters.

e  Use black ink.

e Answer both Section A and Section B.

* Read each question carefully. Make sure you know what you have to do before starting
your answer.

e Write your answer to each question in the space provided. If additional space is required,
you should use the lined page at the end of this booklet. The question number(s) must
be clearly shown.

* Do not write in the bar codes.

INFORMATION FOR CANDIDATES

e The number of marks is given in brackets [ ] at the end of each question or part
question.

* The Insert contains passages of Classical Greek for use with the questions.

e  The total number of marks for this paper is 100.

e  This document consists of 16 pages. Any blank pages are indicated.
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Answer both Section A and Section B.

Section A: Prescribed Prose Literature
You are advised to spend no more than 30 minutes answering questions 1(a) to 1(f).
1 Read Passage 1A from the Insert and answer questions (a) to (d).

(@) émel & oldels ... kik\wowv (lines 1-2) from Passage 1A: why does the king act as he does?

(b) évba 81 Kipos . ..avTov (lines 2-6) from Passage 1A: what impression of Cyrus as a military
leader is conveyed in these lines?
You should make three points.
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(c) ws & n Tpom ...Balws (lines 6-12) from Passage 1A: how does Xenophon make this
description of the fighting vivid?
You should make three points, and support each point by referring to the Greek.
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(d) Translate lines 12—17 from Passage 1A (xal évtatfa ... mepLTesely avTd).

Please write your translation on alternate lines.
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Read Passage 1B from the Insert and answer questions (e) and (f).

(e) What has led to Xenophon’s sudden awakening before the start of Passage 1B?
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(f) T katdkeipat . .. Tols moleptots (lines 1-7) from Passage 1B: how does Xenophon create a
sense of urgency in these lines?
You should refer to both content and style and support your answer with four examples from
the Greek text.
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(g9) In the sections of the Anabasis you have read, what are Xenophon’s strengths as a narrator?
You may make limited reference to the passages in the Insert. [10]

Marks are awarded for the quality of written communication in your answer.
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Section B: Prescribed Verse Literature

You are advised to spend no more than 30 minutes answering questions 2(a) to 2(f).
2 Read Passage 2A from the Insert and answer questions (a) to (e).

(@) What has Achilles just said to make Priam afraid before the start of Passage 2A?

..................................................................................................................................................... [3]

(b) ol 766" ...dmowa (lines 6-9) from Passage 2A: what do Achilles and his companions do
after leaving the hut?

..................................................................................................................................................... [4]

©OCR 2013 Turn over



10

(c) kad & énmov ... édeTpds (lines 10—16) from Passage 2A: what impression of Achilles do
you get from these lines?
You should make three points.

©OCR 2013



11

(d) Translate lines 17-21 from Passage 2A (tov & émel .. .€Talpov).

Please write your translation on alternate lines.
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Read Passage 2B from the Insert and answer question (f).
(f) atTiK amo Bpdvov .. .akndées etol (lines 1-12) from Passage 2B: this is one of the most
famous passages in the Iliad. What makes it so striking?

You should refer to both the content and the style of the Greek and support your answer with
four examples from the Greek.

©OCR 2013 Turn over



14

(g) Discuss how Homer portrays Priam in the lines of Iliad XXIV that you have read.
You may make limited reference to the passages in the Insert. [10]

Marks are awarded for the quality of written communication in your answer.
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END OF QUESTION PAPER
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ADDITIONAL PAGE

If you use the following lined page to complete the answer(s) to any question(s), write the
question number(s) in the margin.
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